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X= i8R Y= @R (s) 28°C 48

19°C 213 28°C 46
19°C 255 28°C 73
19°C 178 31°C 22
22°C 135 31°C 23
22°C 155 31°C 30
25°C 81 34°C 16
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Y Test -

1 .H()Z BZO
2.Ha: B #0
3.Assumption:

(1)# - i subpopulation 3 — f Normal distribution
(2)Each subpopoulation 7 8 fF 2 62> u %

(3) & wyxi = linear
(4)X is measured without error
(5)All variation is in y ( dependent variance)

4.0=0.05
SST=Xy* =91057.53
SSR =bXxy = 82148.23
SSE = SST — SSR = 8909.3

SOV SS df MS F
Regression 82148.23 1 82148.23 138.31
Error 8909.30 15 593.95
Total 91057.53 16
" F=138.31 >F(1,15): 4.54 &FT:ET
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